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1. Choose the correct answer (any fen) : 1x10
(a) Which of the following methods is based on the Rule of Exportation?
(i) Truth Tree method (i) Method of Indirect Proof
(iii) Method of Conditional Proof (iv) Method of Existential Conditional.

(b) In which method of proof the antecedent of the conclusion is taken as an additional premise?

(1) Method of Indirect Proof (i) ‘Method of Conditional Proof
(i) Method of Existential Conditionals - (iv) Truth Tree method.

(c) Which of the following is not true of Truth tree?
(i) Truth tree usually starts with a negation
(i) Truth tree is a decision procedure
(ii}) A truth tree is valid if all paths are closed

(iv) Truth tree does not allow double negation.

(d) In Truth Tree method — (p & q) is transformed into
(i) Trunk statement (i) Branch statement
(iii) - Both trunk and branch statement  (iv)' None of these.
(e) Who is the main exponent of truth tree method?
(i) William Jeffrey (i) Irving M. Copi

(iii) Richard Jeffrey (iv) George Boole.
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(5)
(f) Which of the following is true of an empty set?

(i) Empty set is a subset of all sets

(i) There is only one empty set
(ii) Only an empty set can be a subset of an empty set
(iv) All of the above.

-

(g) If S;gt A ;J{flﬂ;i,';%::.‘theﬁ h;:v It;;any subsets of Set A is possible?
W3 @ 6 MURALIDHAR GIRLS' COLLEGE
(i) 7 iv) 8 LIBRARY
(h) What is expressed by the symbol =?
(i) Inclusion (i) Membership
(1)) Intersection (iv) Union.

() (x) (x € A= x € B)— This is the symbolic definition of which of the following?

(i) Identity (i) Inclusion
(i) Membership (iv) None of these.
() In the context of Boolean Existence Schema, the sentence, “No European Swans are black”.— is
symbolized as :
(Where E = European, S = Swan, B =Black)
(i) —3ESB (i) —3IBSE
(i) -3SB (iv) 3JESB
(k) Which of the following is the correct form of Law of Existential Distribution (LED)?
() IFG=(3IF-3G) (i) 3(FvG)=(3IFv3IG)
(i) —3(Fv G)=(-3F v-3G) (ivy —3FG=(-3F- -3G)
(I) Whatis the truth functional statement constituted of Boolean existence schema or the negation of
it called?
(1) Boolean term schema (i) Boolean equation
(iii) Boolean statement schema (iv) None of these.
2. Answer any five questions : 5%5

(a) Explain the relation between method of conditional proof and method of indirect proof with the help
of examples.

(b) Distinguish between counterexample and model for consistent set in the context of truth tree with
examples.

(c) Determine with the help of truth tree method whether the following sets of sentences are equivalent
to each other :
(@ =(A—>B) and A & -B
(i) A—>B and -A »-B
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(d) What is wrong with the following argument?
Socrates is a man. Men are numerous. Therefore, Socrates iS numerous.

(e) Translate into set theoretical language :

(i) The Apostles are twelve.

(i) Planets are luminous. 44
. . MUBALIDHAR SirLs Chil EGE
(i) Some Americans are philosophers. LIBRARY

1020 3 (@) A,ll_,:c_g:fgge:drljmkers drink either tea or wine.

?‘:":(ir)%;‘ There is no uniform that is not made of velvet.
(f) Distinguish among transitive, intransitive and non-transitive relations with the help of examples.
(g) Test the validity of the following argument with the method of existential conditional :
Some F are G or some F are H. Therefore, Some F are G or H

(h). Show that EIO is valid in 1st and 2nd figure by the method of existential conditional.

3. Answer any two questions :
(@ (i) What is the relation between method of conditional proof and the rule of exportation?
(i) Give the conditional proof of validity of the following arguments :
(1) (ToE).(AoL)/..(T.A)>(E.L)
(2) Qv(R>S), RoR.8)]=>(TvU), (T5Q).(UsV)/.~ QvvVvV
(iii) Use the method of indirect proof to verify the following as tautology :
(Ao>B)v(A>~B) 4+(3+4)+4
(b) ~ (i) State any three rules of constructing a truth tree.
(i) Test the validity of the argument with the help of truth tree :
Moriarty is guilty. Moriarty is not guilty. Therefore, Holmes is on the job,
(iii) Test the validity of the following statement with the help of truth tree :

A—->B->A)
(iv) Are the following sentences consistent? Test with Truth tree method.
-pvq, pv—q, -pv-q, —(pVvQq) 3+4+4+4

(c) (i) What is the principle for extensionality for sets? Give its symbolic form.
(i) Which of the following statements are true for all sets A, B, and C?
(1) If AcB and B eC, then B C
(2) If AeB and B=C, then A e C
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Write short notes on :
: TP A ST MURALIDHAR GIRLS COLLEGE
(1) Domain of individuals - LIBRARY

(2) Complement of a set

Find the following :

(1) AN (A}, @) {A}N{A}L B) {A (A}~ {AL (B {A {A) ~A 3+a+4+4
What is existential conditional? Give an example.

Show with the method of existential conditionals that BRAMANTIP is invalid.

Test the following schemata for validity by the method of existential conditionals :

(1) 3JF 2. 3(EG vIG v GH)

(2) 3GJ <3GK .. AFGH v FIv HK)

Explain the validity rules of Boolean statement schema as stated by Quine with
examples. 2+4+4+5

Please Turn Over



Z(5th Sm.)-Philosophy-H/DSE-A-1,
DSE-A-2 & DSE-A-3/CBCS (8)
IDINOD 23D el ARLN MURALIBH 2% GIRLS' COLLEGE
RS LIBRARY

Paper : DSE-A-2
(Normative and Metaethics)
Full Marks : 65

SRS Fealer T W
> Afes Seafs @ e (@ ) ¢ %30
) SR e R cmb:
() FesE (SM) IR SR
® 354 @) I
() @ 4= sytae W i w1 e
) =@ =M e
@ e @) aulm 1B
() THa @IS oo S ey w3
(=) Ifem (=) o =Tl
(@ TRI =TT &) =)
() ST 6T Y OiEr |— «ff g wfews ?
() 1% (M «@aq
@ W ) |
(&) SIRFOGTETR ST AR Z—
(%) vT=Ee () TeNGE i wikis
®) %97 ova ) SR
(®) “wﬁsﬁmgﬁwwmr’—mﬁwmﬁ@ww
(3) SRS AT (=) T T
® P () el ary |
(®) & O g [T SR 2
(=) 3% (@) @
® ="

&) T



Z(5th Sm.)-Philosophy-H/DSE-A-1,
(9) DSE-A-2 & DSE-A-3/CBCS

(F) CRET WeS TS I 2

() TSR\ () A=t
R W &) TATIETI
@) Ted-Res SR srift twise R Renze—
(=) TR = @) TG
@) e oififae e & «sfE @Ene 71
(<) T IRT RN |— i I o 2 MURA“DHAR GIRLS’ coL
@) @ @ T
® @ &) oiReEHl
©) FeFReet@ g ERie @ @ wiee?
(X D (o) et
@ N &) elfset T T
(3) SR AEH SRR 2=
@) @@ &) ="
® &= &) %I
]| R TeT NS (- Al ¢ exe
(@) wfRNfsfiw! 7= Te F @ |
@) R e R Tl (Hfower 3l Fer ey Rema 7 e
() THY TS TFow! & TS FHTS 2 ST R |
(F) TG ePTCR CATHIR SAToTS AT T |
(e) TSRITE T 6T 2
() TioT ARRITE Tt A0 S |
® HIFOET IS I ?
(®) s oz [ fee Rgfores » seesa st
O (F-(FAHG TR eI WS ¢
(@) e Sieaf g ¢ e s
@) e e e |
(e TSR SRt Sgep | b+q

Please Turn Over



DSE-A-2 & DSE-A-3/CBCS

F(Slh Sm.)-PIziIosophy—H/DSE-A-I,J (10 )
(1) o A AgRouR B Ay FHTE ST T o TR @i ARG ICT A FHew,

&+Yo
() B R @ S HRETHE Tl RS TR ? SIREHH % TP Retolte ST Koot sy
BT TR T ¢ AT P | R
(R) ST HICE T2 G —No1S A g Rpre{d<s AT T | o
[ English Version]
o BN ""m!'The figures in the margin indicate full marks.
3100 © 0 et
1. Choose the correct option : (any fen) : . MURAUUH:‘,P BN 1x10
(a) Which one is the object of discussion of ethics? ~ LiBp M{y “OLLEG:
(i) Social system (i) Human conduct
(iii) Duty (iv) Reason.
(b) Which of the following concepts, according to Moore, can be defined?
(i) Yellow (i) Horse
(i) Good (iv) All of these.
(c) Which one of the following is not considered as the postulate of morality?
(i) Personality (i) Reason
(i) Freedom of will (iv) Intuition.
(d) “The meaning of a moral statement is prescriptive.”— Whose opinion is this?
(i) Kant (i) Ayer
(iii) Moore (iv) Hare.
(e) In Aristotle’s view, the virtues are—
(i) innate (i) acquired through habit

(iii) given by God (iv) accidental,
(D “I'want you to speak the truth.”— This sentence, in mor

al language is called
(i) Prescriptive sentence

(i) Descriptive sentence

(i) Emotive sentence (iv) Naturalistic sentence.

(8) Who admits the immortality of soul?
(i) Kant (i) Ayer
(ii) Hare (iv) Moore.
(h) What is the name of the ethical doctrine of Hare?
(i) Intuitionism

(i) Prescriptivism
(ii}) Eudaemonism

(iv) Utilitarianism,
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(i) The object of moral judgement according to virtue ethics is
(i) teleological actions (i) actions determined by duty
(ii) good character traits (iv) None of these.
() “Ethical statement is emotive.”— Whose view is it?
() Ayer (i) Moore
(i) Hare (iv) Aristotle.
(k) Which of the following has a moral value?
(i) Money i (i) poetry
53 - Gi) 5 pléasfn;é RIARR (iv) Keeping promiise.
0 A“féb?‘égeﬂ%dtive of Emotive theory is
() Ayer (i) Hare MURAUDT,%%‘:;SY'COLLEGE
(i) Ml (iv) Kant. o
2. Answer in brief (any five) : 5%5
(a) What do you mean by metaethics?
(b) In what sense is freedom of will considered to be a postulate of morality?
(c) Is honesty the best policy in Kantian interpretation? — Discuss.
(d) Explain Plato’s view regarding virtue.
(e) What are the main tenets of intuitionism?
(f) Discuss the nature of moral scepticism.
(g) What is naturalistic fallacy?
(h) Are moral propositions purely descriptive? — Discuss.

3. Answer any ftwo questions :

(a)

(b)

(d)

Explain and examine the following statements :

(i) The language of Ethics is emotive.

(i) The language of Ethics is prescriptive. 8+7
What are the postulates of morality? Why does Kant consider the existence of God as a
postulate of morality? 5410
What are the different kinds of virtue admitted by Aristotle? How does he relate the division
of virtue to the division of human soul? Discuss. 3+12
What is value? Is value subjective or objective? Discuss critically. 3+12
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[Philosophy of Language (Indian)]
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1. Choose the correct option : (any ften) : 1>10
(a) Sakti, according to the Nyaya school is
(1) qualitative entity (i) substantive entity
(iii) negative entity (iv) none of these.

(b) “Sakti is a separate category over and above the seven categories accepted by the Nyaya-
Vaisesikas.’— Whose view is this?

(i) Mimamsaka (i) Naiyayika
(i) Vaisesika (iv) None of them.
(c) An example of rugha pada (word) is
(i) the word ‘plant’ (i) the word ‘cow’
(ili) the word ‘lotus’ (iv) the word ‘cook’.

(d) According to Nyaya, vritti is of

(i) two types (i) three types
(iii) four types (iv) five types.
(e) Which one is not regarded as the cause of sabdabodha (verbal understanding)?
(i) the knowledge of vrirti (i) the knowledge of sannidhi
(iii) the knowledge of similarity (iv) the memory cognition of the meaning of the words.

(f) Tatparya is the—
(i) intention of the speaker (i) intention of the listner
(iii) intention of both speaker and listner (iv) none of these.
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(2) According,tyy _;\nn:uﬁ\\ﬁ:\(\n the word ‘Dot by its Sakst rel

o 1o
() the universal pothood

e EP W U T~ T

(1) the individual pot
(ii)) the individual pot as char

acterised by the universnl pothood
(iv) none of the above.

DHAR GIRLS' COLLEGE
(h) The supporter of Jatisaktivada is y ‘MURNJ LI BRHR’YP
(1) Naiyayika

(D Bauddha
(i) Mimamsaka

(V) Vaiegika,
‘Banhina sinchati’(watering with fire)— in t
() akamksa

() sannidhi

his sentence which of the Sllrsing tatnr in srneny?
() yogyara

V) raparyq.

() Kumarila Bhatta is the supporter of
() anvitabhidhanavadg (ii) Karyanvitabhidhznr=z.:

(i) abhihitanvayavada (iv)  none of these,

The term ‘Ganges® refers to the bank of th

W) Saktivreri

() Wyarjanzvri

&) ¢ Ganges by

(ii) laksanavrtti

(tv) gaunivpi.
O Vyawjanzvrei is accepted by

(1) Naivayika

(i) Mimamsaka
(i) Alamkarika

(iv) All of them,
2. Answer in brief (any five) : 3
(a) Discuss after T, arkasamgraha, akamksa, yogyata and Samnidin.
(b) What is 8aunmivrtti 7 Does Annambhagta accept it as

(©) ‘dnvaya anupapatti laksanavijam’
difference between these two doctrin

a distinet Wi Give RENeR

and ‘Tatparya anupapatti ladypagien™ wWhae i "
es?

(d) “Sabda is not a distinct pramana.”— How does Annambhatia refute

this view?
(¢) What is meant by Vyarjanavrtti? Write briefly.
(f) Discuss the main tenets of anvitabhidhanvada.

(gz) Discuss the distinction between Jatisaktivada and akptitaktivada,

(h) Can fatparya be regarded as a cause of Sabdabodha (verbal understanding)? Explain,
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3. Answer any two questions : “URAUDHLA]%?(ARY
(@) (1) What is laksapa?

(i) Distinguish between Sakti and laksana.

(iii) Discuss with examples, the different kinds of laksana.
SEBFIRIEE (1)) ,I%QSF’,.'.‘W; a kind of laksana? Explain with example. 2+H44643
(b) "‘(D‘*’Biscugs tliéﬁélcﬁnition of Sakti as given in Tarkasamgraha and Dipika. Why has
Annambhatta changed the definition of Sakfi in Dipika?

(if) What is meant by the word ‘Pot’ through its Sakti?— Discuss in this context the views
of Mimamsakas and Annambhatta. (S+)+6

(c) Explain abhihitanvayavada with example. 15

(d) (i) Explain the laksana (definition) of pada (word) according to Annambhatta.

(i) Discuss with examples the different kinds of pada. 5+10



